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O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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@ 900 = 2(700 - x) @ 900 — x = 1400

® 900x = 1400x @ 900 — 2x = 700 — x

® 900 — x = 2(700 — x)



3 EAL AYE A2 42447, 6454 AT 9)ek. Fo) 5
1 7b o] 471 5g0] 1 ] 4o

o 227G Folo} 51717

© 47 @ 5 A% ® 6 AT

@ 12 A= 3 36 A=



Qo) 2ke] 2247} o) Abe] 2Au RE 2 % Ake] A%t
Qlek. o] Atel S:ake} 419 Abe] S-S BRE A So] 3usch

2 93 Atk o] e Totofel.

Yt
=%



10.

gy, lole Adol7h 10 U Bt

7 wo

]_

| Zrlo)7} 5 28 91, 44lo]7} s 20 9 Ak
5o 9] Lot el 2rol7
A shelct, g el B BE vido] A= Foto



